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QUESTION 1

You are testng an ATM based on the following use case; ATM start screen is showing 

1.

 The user inserts card 

2.

 The user types in PIN 

3.

 The user selects `cash with receipt\\' 

4.

 The user selects 50 

5.

 The user selects `no further service\\' Expected results 

-

The ATM provides 50 to the user 

-

The ATM return the card and balance slip 

-

The ATM clears the screen 

-

The ATM returns to start menu In your test log which of the following could be noted as part of additonal atenton points?
[K3] 2 credits 

A. 

Issues regarding tme-behavior 

B. 

Issues regarding interoperability 

C. 

More test cases needed to achieve full coverage 

D. 
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Expected results not clearly defned 

Correct Answer: A 

 

QUESTION 2

Which of the following is the LEAST appropriate acton to mitgate product risks for a web applicaton? [K3] 2 credits 

A. Initate reviews of test design 

B. Use professional and skilled testers with appropriate technical knowledge 

C. Run tests in multple operatonal environments 

D. Allocate more tme to high risk areas 

Correct Answer: A 

 

QUESTION 3

Based on the classifcaton tree show below, how many test cases are required using the classifcaton tree method? 

[K3] 2 credits B. 3 

C. 4 

D. 6 

Correct Answer: B 

 

QUESTION 4
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As part of defning an approach the usability, acceptance criteria need to be defned. Which of the following acceptance
criteria would be appropriate for operability? [K4] 3 credits 

A. Percentage of partcipants who completed each task correctly 

B. Mean extent to which each task was completely and correctly achieved, scored as a percentage 

C. Mean tme taken to complete each task (for correctly completed tasks) 

D. SUMI user satsfacton score 

Correct Answer: C 

 

QUESTION 5

You are applying pairwise testng and using orthogonal arrays. The following steps are all part of the process to be
followed. i) Determine the number of choices for each variable ii) Map the test problem onto the orthogonal array iii)
Construct the test cases iv) Identfy the variables v) Locate an appropriate orthogonal array What is the correct order of
the above mentoned process steps? [K3] 2 credits 

A. i, ii, iv, v, iii 

B. iv, ii, v, iii, i 

C. iv, i, iii, v, ii 

D. iv, i, v, ii, iii 

Correct Answer: D 
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